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# 16 Indicate whether the statement is true Always, Sometimes, or Never (A, S, or N)

If two triangles are similar, then they are congruent. S
If two triangles are congruent, then they are similar. A
An obtuse triangle is similar to an acute triangle. N
Two right triangles are similar. S
Two equilateral polygons are similar. S
Two equilateral triangles are similar. A
Two rectangles are similar if neither is a square. S
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#17 From two points, one on each leg of an isosceles triangle, perpendiculars are drawn to the base.
Prove that the triangles formed are similar.
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